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BoOTTLESOFBEER(n )
Fori{ « ndownto 1
Sing “f bottles of beer on the wall, { bottles of beer”
Sing “Take one down, pass it around, { — 1 bottles of beer on the wall.”

Sing “No botties of beer on the wall, no bottles of beer,”
Sing “Go to the store, buy some more, n bottfes of beer on the wall.,”
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{{Construct the line perpendicular to £ and passing through P.))
RIGHTANGLE(L, P):

Choose a point A < {

A B « INTERSECT{ CIRCLE(F A), £)

C, D« INTERSECT(CIRCLE(A, B, CIRcLE(B,A))

return LINE(C, D)

{Construct a point Z such that |[AZ| = |AC||AD|/|AB|.)
MULTIPLYORDIVIDE(A B, C, D:

o +— RIGHTANGLE(LINE(A, C),A)

F « INTERSECT(CIRCLE(A, B), &)

F « INTERSECT(CIRCLE(A, D), )

£+ RIGHTANGLE(LIME(E, C), F)

¥ «— RIGHTANGLE( 3, F)

return INTERSECT( ¥, LINE(A, G )
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Multiplying cr dividing using a compass and straightedge.



